GK S1 Blatt 5.1

Lineares und exponentielles Wachstum -  Lösungen

Tabelle 1: 

	t
	0
	0.5
	1
	2
	3
	4
	6
	F-Gleichung

	li(t)
	29,5
	29,75
	30
	30,5
	31
	31,5
	32,5
	li(t)= 29,5 + 0,5x

	exp(t)
	1
	5,47..
	30
	900
	27000
	810000
	7,29
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108
	exp(t) = 30x


Tabelle 2: 

	t
	0
	0.5
	1
	2
	3
	4
	6
	F-Gleichung

	li(t)
	104
	94
	84
	64
	44
	24
	- 16
	li(t)=  104 – 20x

	exp(t)
	1
	2,82..
	8
	64
	512
	4096
	262144
	exp(t) = 8x


Tabelle 3: 

	t
	0
	0.5
	1
	2
	3
	4
	6
	F-Gleichung

	li(t)
	5
	5f
	6
	7
	8
	9
	11
	li(t)=  5 + x

	exp(t)
	1
	1,41..
	2
	4
	8
	16
	64
	exp(t) =  2x


Tabelle 4: 

	t
	0
	0.5
	1
	2
	3
	4
	6
	F-Gleichung

	li(t)
	0
	0,09
	0,18
	0,36
	0,54
	0,72
	1,08
	li(t)= 0,18x

	exp(t)
	1
	0,77..
	0,6
	0,36
	0,216
	0,1296
	0,046656
	exp(t) = 0,6x


Tabelle 5: 

	t
	0
	0.5
	1
	2
	3
	4
	6
	F-Gleichung

	li(t)
	0,5
	0,45
	0,4
	0,3
	0,2
	0,1
	- 0,1
	li(t) =  0,5 – 0,1x

	exp(t)
	1
	0.632
	0,4
	0,16
	0,064
	0,0256
	0,004096
	exp(t) =  0,4x
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